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nstructions to Students:

e ——— R —

I.  The students should legibly write Section number along with question numbers.

The answer without Section number and question numbers will not be valued,

2
3. The question numbers should be legibly written with in margin only.
4

Normal calculator can be used.

~ SECTION - I
Select the most appropriate answer from the options provided: 10x1=10
1- 1) #(n)eO(g(n) means ____ |
a) t(n)2g(n) b) t(n)<g(n)
¢ t(n)=g(n) d) None

- 2) The best case complexity of sequential search is 0 (7)

a) 0 b) n
¢c) d d) 1
I- 3) The efficiency of an algorithm depends on
a) Input size b) Output size
c) Both d) None .

I- 4) Aﬂlﬂﬂg n, "1' n"l 103"' 2" orders ofalgoril]'lm 'hﬂhiwmli‘ ‘ —

3 o, b) logn
] d) h Ll
G) 2 ' 3
1- 5) TSPisanexampleof g
a) Dynamic Program b) Exlmuliwm'l_ e
¢) Bothaandb d) None -‘ -
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- 6) Backtracking is used in

a) BFS b) DFS
c) None d) bothaand b

1- 7) The merge and quick sort techniques, have order of Wthl

case).
a) Different b) Same
¢) Not comparable d) None

t“'

1- 8) Given the following binary tree, the node at the middle of in order traverss

a) ¢
c) d

a) Directed Cyclic Graph b) Undirected a Cyelic G h
¢) Undirected Cyclic Graph  d) Directed a Cyclic Graph
[wh

I- 10) A minimal spanning tree contain &

a) All edges of graph b) All vertices of graph L4

¢) bothaandb d) Only option a

SECTION - IT
1L Answer any FIVE ﬂfffrefﬂﬂawing;

[I-1) For the algorithm of finding sum of *n*
i) Input size
ii) Basic operation :
M-2) Draw the flowchart of algorithm &Hm w ..

M-3) Write the Euii?s algorithm to find the Gﬂl}
l-4)  Check whether the followi -
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OR o

a) With neat graphical representation explain the three asymptotic “ﬂ'-.ﬂﬁﬂns.u.:_-;. _

algorithm analysis:
b) Write an algorithm to find the number of digits in the binary fﬂpfﬂﬂentah .,,.,
decimal number and analyse its complexity. _ , .

VI- 2) a) i) With an example explain depth first search algorithm.
i) What is meant by Brute Force approach? Explain the use of this 2 pproach fi
analysis of sequential search algorithm.

OR
a) Analysis quick sort algorithm.
b) Explain the greedy technique in finding MST using Dijkstr ’ﬁ' )

RS R
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Instruction {0 the Students:. :
i Answer any FIVE full quesrmﬂs .
7 Studenis: should ﬁff&'ﬂd at ie'ﬂj'{ ﬂﬂ,g Wﬁﬂmﬂﬁ?ﬁ&ﬂp

PART - A

. a) Explain the structure nfmmmm |
ls) Wirite anote on evolution of web. Y |
¢) Define the following: a) Web page b) Web site %g% ' 14

d) WWW e) URL. '1_..,",., 'f'?‘_. 4
. a) Whatisa hst? Explain va;inust}rpék'hf]'ist' ' w

b) What is the need of CSS i in web prugrmrmnng? Explaind :H “‘-t-.,-:_
suitable examples. T

¢) Explain the -iTAEI_,EE':* tag with its attributes. Give Sui
PART - B

| S
I

. a) Explain any six advantages of JavaScript.
b) Explainany five cvent handltngfmﬁtmn&iﬂjﬂﬁﬁ@ﬂrj
) What do you mean by pnttam mﬂtﬁﬁng‘}w}i ]

regular expression. :
. a) Explain cljgnt-Scﬁer'-arnhiwcture.ﬁiﬂ;iﬁfﬁﬁ_.'f.'_'_".._ 5.
b) Differentiate between Stateless and Stateful profocols.
.

¢) Write anote an_‘p_br'gg:an:i sockets:

) Expand JEE, Explain characteristics of
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6. a) Compare between traditional approach and J2EE aﬂmﬁach
development.

b) Write a note on the following
i) web container i1} EIB container

¢) Explain JEE Components and services with a diagram,

PART - D
‘N

"

b) Explain the advantages of ISP and Wﬂtﬂ J'S?r s

7. a) Differentiate Java and JSP

-rra-

¢) Explain the steps in writing and executi

8. a) Wnite a noie on Session variable mPHﬁ -

b) Write a note on:

i} Functions in PHP ii} MYSQL tegratio
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B Wiite a note an ALOHA,

c)

1. a)
b)
c)
§. a)
b)

c)

Explain Collision free protocol,
PART - D
Explain FDM.

Explain ISDN user interface network. :

Write a note on TDM.

Explain packet switching networks, r
Write a note on time division switching,

Differentiate circuit switching and packet switching,

L
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1o Students:

students should legibly write Section number ﬁfagng with qu gm

answer without Section number and question numbers will L.' 3

question numbers should be legibly written with in mmﬁ‘ nly.

SECTION - I il

the most appropriate answer from the options provided:.

¥

) Which of the following is the Leading cloud platform service
@) Area b) Azm'e '
<) Bing d) MSN

2) Amazon provides Cloud Service.

8 AWS b) Azure
¢) Google Cloud d) .M:hahClnuti

) What type of computing technology refers to §
{hrough virtualized resources? =
i) Distributed computing b) Cl m\d 01 mpHRE S
¢ Soft computing d) Parallel c wrﬂ" tn

o1

¥ Cloud deployment m!oduis'art-______

4 Public cloud

) Hybrid cloud

¢ Cloud container are used in

3 Run Micro Services
9 Update the software

.-.—-—-—;'."

"‘h“fﬂiafounwmg:snﬂw

Y Sus b) Pass
d) Tass






%) Explain geosciences application used in cloud,

SECTION - 1v

Answer the following:

1) a) Explain different types of cloud,
OR

. 2) a) Explain the uses of Aneka containers.
OR
b) i) Explain Amazon cloud services.

ii) Explain multiplayer online gaming,

* %k Kk kK

b) Explain the different cloud deployment models.
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SECTION - I ]

Select the most appropriate answer from options provided :

l-1) How many layers in the OSI model

a) 2 layers b) 4 layers
c) 7 layers d) 9 layers

I-2) The full form of OSI is

a) Operating system interface b) Optical system mtﬁe nection
¢) Operating system internet  d) Open systmn_imgreot;hecﬁ”f L

I-3) Identify the full formof HTTP

a) Hyper text transfer protocal b) Hypert thtraqs
¢) Hyper transfer text package d) Hype;mf _

I-4) Identify the In correct networktopology

a) Bus b) Star . ¢) P2p d)Ring.
I-5) *Parity bits” are used for which of the following

a) Encryption of data b) To trans

¢) To detect errors d) Toidentit
6) In pure ALOHA, the vulnerable time is__———

time V-

a) The same as b)

¢) Three times d) None
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éﬂ- wtt &”;

SECTION - I ] ‘_‘
Gt themost appropriate answer from options provided:  10Xi=10
1) Which of the following is used to define a block of cnde

language
a) Indentation b) Key -
¢) Brockets d) All of the mentioned
I-2) Total number of basic keywords present in Pylhonvmlmf’ :-,_ :
2) 20 b) 32 i
c) 26 d) 35 e
I3) Which of the following keyword used to dcﬁn&funchenm‘ Python -
a) def b) function
¢) define d) user function
I4) What is the default value of encoding inencode( ) ?
a) Ascii b) Qwerty c) Uff-8 d)Uﬁ!'flﬁ

-5) Toadd a new element toa list which function canbe USEEs

1'!1 L i
2) add () b) append ()
¢) addlast () d) add end()_

—1sused as index in dictionary Lot

3) Key b) Value
) Both 9 Nore

al

L)
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- 6) is a basically the Set of all possible outcomes of any

a) Random variable b) Mode
¢) Mean d) probability distribution

. I
[~ 7) Inhypothesis testing type II Error is denoted by 1.4?
a) Alpha b) Beta i ¢
¢) Gama d) Delta

I- 8) A testing is a statistical method that is used in
| Experimental data is called

- a) Statistical test b) Software tm
¢) Hypothesis test d) Model t&eung _

a) graph () b) plot()
¢) create.graph () d) create.plot ()

[~ 10) The function is used to create histograms in »—
a) histograms () '
¢) create. hist ()

SECTION -1
1L Answer an Y FIVE of the foﬂowing: |

II-1) Write s note on matrix,

II-2) Explain while loop in R,
I1-3)

11 - 4)
I1- 5)
11- 6)

I-7) List one — g
I-g)















